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MASTER OF ARTS (ECONOMICS) 

Term-End Examination 

December, 2018 

MEC-002 : MACROECONOMIC ANALYSIS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer questions from each section as directed. 

SECTION - A 

Answer any two questions from this section. 2x20=40 

1. In the Solow model, what is the condition 
required for steady state growth ? Explain the 
effect of savings rate in this model. 

2. Explain Lucas' critique of macroeconomic policy 
evaluation. What is the role of microfoundations 
in Lucas' critique ? 

3. What do you understand by endogenous 
growth ? What are its implications ? Discuss one 
of the models of endogenous growth. 

4. How does a country use fiscal and monetary 
policies to correct a recession, given perfect capital 
mobility ? Explain. 
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SECTION - B 

Answer any five questions from this section. 5x12=60 

5. What is meant by a "Liquidity Trap" ? Why is 
monetary policy ineffective in the presence of a 
liquidity trap ? 

6. Discuss how the concept of menu cost can be used 
to explain rigidities in prices. 

7. Bring out the salient features of real business cycle. 

8. Explain how the Ramsey model is an 
improvement over the Solow model. 

9. Explain with appropriate diagrams how 
monetary policy is ineffective in an open economy 
with fixed exchange rate ? 

10. Explain how the downward sloping short-run 
phillips curve can be reconciled with the vertical 
long run phillips curve. 

11. Based on the assumptions of the Solow model, 
explain why there should be convergence in 
growth across countries. 

12. Write short notes on the following : 
(a) Classical dichotomy 
(b) Insider-Outsider model of unemployment. 
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